

(1) For the function $y = f(x) = x^5$, circle T if the following notation is correct, F if incorrect.





(3) Find
$$\frac{dy}{dx}$$
 to partial performance for the second secon

In problems 5-6 find
$$\frac{dy}{dx}$$
. Work carefully, very limited partial credit will be given. (B pts each)
(s) $y = \frac{x^{2} \cos x}{7 - 6x}$ guotrest (multiply out numerator + combine
 $\frac{dy}{dx} = \frac{(7 - 6x)}{(7 - 6x)^{2}} = \frac{(7 - 6x)}{(9 \cos 4ut)(7 - 6x)^{2}}$
 $= \frac{(7 - 6x)(3x^{2}\cos 5x) - x^{2}\cos x \cdot \frac{dx}{dx}(7 - 6x)}{(7 - 6x)^{2}}$
 $= \frac{21x^{2}\cos 5x - 7x^{3}\sin x - 18x^{2}\cos x + 6x^{4}\sin x + 6x^{3}\cos x}{(7 - 6x)^{2}}$
 $= \frac{21x^{2}\cos 5x - 7x^{3}\sin x - 18x^{2}\cos x + 6x^{4}\sin x}{(7 - 6x)^{2}}$
 $= \frac{21x^{2}\cos x - 7x^{3}\sin x - 12x^{3}\cos x + 6x^{4}\sin x}{(7 - 6x)^{2}}$
(6) $y = \sin^{1}(8x^{2}) = (\sin(8x^{2}))^{4}$ (* 3 layers *
 $\frac{dy}{dx} = 4(\sin(8x^{2}))^{3} \frac{d}{dx}(\sin(8x^{2}) + 6x^{3}\sin x) - (5x^{2})^{3}(\cos x^{2}) + (5x^{2})^{3}(\cos x^{2})$

In problems 7-8 find
$$f'(x)$$
. Work carefully, very limited partial credit will be given.
(8 pts each)

$$(7) y = \frac{x}{\sqrt[3]{3x+1}} = \chi (3\chi+1)^{1/3}$$

$$\frac{dy}{d\chi} = \frac{d}{d\chi} (\chi) (3\chi+1)^{1/3} + \chi \frac{d}{d\chi} (3\chi+1)^{1/3}$$

$$= (3\chi+1)^{1/3} + \chi \frac{d}{3} (3\chi+1)^{-4/3}$$

$$= (3\chi+1)^{1/3} - \chi (3\chi+1)^{-4/3}$$

$$= (3\chi+1)^{-4/3} (3\chi+1)^{-4/3}$$

$$= \frac{2\chi+1}{(3\chi+1)^{4/3}}$$

(8)
$$f(x) = \tan\left(\frac{x^{2}}{2x+1}\right)$$

$$\frac{dy}{dx} = Sec^{2}\left(\frac{x^{2}}{2x+1}\right) \frac{dx}{dx}\left(\frac{x^{2}}{2x+1}\right)$$

$$= Sec^{2}\left(\frac{x^{2}}{2x+1}\right) \frac{(x+1)2x - x^{2}(2)}{(2x+1)^{2}}$$

$$= Sec^{2}\left(\frac{x^{2}}{2x+1}\right) \frac{2x^{2}+2x}{(2x+1)^{2}}$$

Sec second sample test, #9

(9) Find the equation of the tangent line to the curve $2x^3 + 2y^2 - 9xy = 0$ at the point (2,1). (Graph is provided to help you check whether your answer is reasonable if you want to)

Need
$$\frac{dy}{dx} - \frac{dy}{dx} - \frac{dy}{dy} = \frac{dy}{dx} - \frac{dy}{dy} = \frac{dy}{dx} = 0$$

 $(ax^{2} + 4y)\frac{dy}{dx} - \frac{dy}{dy} - \frac{dy}{dx} = 0$
 $(ax^{2} + 4y)\frac{dy}{dx} - \frac{dy}{dy} - \frac{dy}{dx} = 0$
 $(ax^{2} + 4y)\frac{dy}{dx} - \frac{dy}{dx} - \frac{dy}{dx} = 0$
 $(ax^{2} + 4y)\frac{dy}{dx} - \frac{dy}{dx} - \frac{dy}{dx} = 0$
 $(ax^{2} + 4y)\frac{dy}{dx} - \frac{dy}{dx} - \frac{dy}{dx} = 0$
 $(ax^{2} + 4y)\frac{dy}{dx} - \frac{dy}{dx} - \frac{dy}{dx} = 0$
 $(ax^{2} + 4y)\frac{dy}{dx} - \frac{dy}{dx} - \frac{dy}{dx} = 0$
 $(ax^{2} + 4y)\frac{dy}{dx} - \frac{dy}{dx} - \frac{dy}{dx} = 0$
 $(ax^{2} + 4y)\frac{dy}{dx} - \frac{dy}{dx} - \frac{dy}{dx} = 0$
 $(ax^{2} + 4y)\frac{dy}{dx} - \frac{dy}{dx} - \frac{gy}{dx} -$

Line
$$y - i = \frac{15}{14}(x - 2)$$

or $y = \frac{15}{14}x - \frac{32}{7}$ Similar to book's
example 2 in 26

1



(11)

<u>7</u>. Two airplanes are flying in the air at the same height: airplane *A* is flying east at 250 mi/h and airplane *B* is flying north at 300 mi/h. If they are both heading to the same airport, located 30 miles east of airplane *A* and 40 miles north of airplane *B*, at what rate is the distance between the airplanes changing?

